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QUESTION 1

You want to create an encrypted table. So, you enter this command:

CREATE TABLE \\'test_encryption2% (

\Vid\\' int(10) unsigned NOT NULL AUTO_INCREMENT,

\\'server_name\\' varchar(15) NOT NULL,

PRIMARY KEY (\'id\\') ) ENGINE=MYISAM AUTO_INCREMENT=| DEFAULT CHARSET=latin1
ENCRYPTION =\\'Y1;

You receive the following error:

ERROR 1031 (HY000): Table storage engine for “test_encryption2\\' doesn\\'t have this option Which
statement correctly explains the reason for this error?

A. You cannot use the AUTO_INCREMENT option to create an encrypted table. This is what is causing the error.

B. The term "server_name" is a reserved MySQL term. You cannot use it for the new table. This is what is causing the
error.

C. The encryption feature only works with InnoDB tables. You are creating a Myl[SAM table, and it is causing the error.
D. The test_encryption2 already exist. You are not using the correct option to recreate it and it is causing the error.

Correct Answer: C

QUESTION 2

Which two statements are true about the creation or use of a Virtual Cloud Network (VCN)?

A. You can connect directly to the VCN without a define subnet.

B. Your instance does not have a public IP address, so you cannot connect with a public subnet.
C. You must have an Internet gateway to connect to a public address on an Oracle Linux instance.
D. You can connect directly to an instance over the internet, without a public IP address.

E. You must have an IPSec VPN to connect to an Oracle Linux instance.

Correct Answer: AD

QUESTION 3

You want to change the default behavior of MySQL Enterprise Monitor (MEM). New instances detected by
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a MEM agent should automatically monitor discovered instances.
How can you change the Advisor Setting?

A. Go to the configuration section (Users) and create a hew user according to the existing users of your new MySQL
instances.

B. Go to the configuration section (Advisors) and edit the default settings of the MySQL Process Discovery according to
the existing users of your new MySQL instances.

C. Go to the configuration section (Advisors) and create a new advisor rule for new MySQL instances based on the
MySQL Advisor Wizard.

D. Go to the configuration section (MEM) and configure the default login credentials.

Correct Answer: B

QUESTION 4

Which three installation options are available for installing the MySQL Enterprise Monitor/Agent on Linux?

A. A GUI for installing MySQL Enterprise Monitor, Agent, and a MySQL Repository database

B. A CLI-based wizard MySQL Enterprise Monitor, Agent, and a MySQL Repository database

C. A script (with an option file) for installing MySQL Enterprise Monitor, Agent, and a MySQL Repository database
D. A MySQL Enterprise Monitor to remotely deploy the MySQL Monitor Agent

E. A browser-based wizard to remotely deploy the MySQL Monitor Agent

Correct Answer: ABC

QUESTION 5

You establish MySQL Enterprise Server on Oracle Cloud Infrastructure connection via Secure Shell (SSH). When
accessing a new MySQL Enterprise Edition Oracle Cloud Infrastructure (OCI) instance, you want to use MySQL
Enterprise Workbench for SQL and remote management. What are two ways to successfully configure Workbench
based on the MySQL access credentials?

A. Open the MySQL OCI instance access port 3306. For the MySQL connection, you use this port, and, in addition, you
configure the remote management based on SSH based on the provided key.

B. Configure the MySQL Router first and based on those settings, you access your MySQL CS instance.

C. Configure TCP/IP over SSH and based on the created private key, opc-User, and MySQL access credentials, you
can access the MySQL OCI instance.

D. Convert the private key to ppk format first. Based on TCP/IP over SSH and based on the created private key, opc-
user, and MySQL access credentials, you can access the MySQL CS instance.

Correct Answer: A
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QUESTION 6
Which two statements are true about MySQL Enterprise Authentication?

A. MySQL Enterprise Authentication makes it more difficult to set up security because you have different sets of security
policies.

B. MySQL Enterprise Authentication determines what operation the user can perform.

C. MySQL Enterprise Authentication supports Linux Pluggable Authentication Modules (PAM).

D. MySQL Enterprise Authentication supports Windows Active Directory.

E. MySQL Enterprise Edition automatically connects to Oracle Password Vault to verify user passwords..

Correct Answer: CD

QUESTION 7

Which two deployment architectures could you use for scaling-out database reads?

A. Implementing a three-node, single-primary InnoDB Cluster.

B. Edit the configuration file and increase the value for parallel_read_workers and reboot the server

C. Changing the system setting with memory stickiness to true in order not to swap out mysgldfrom memory.
D. Altering the storage engine for all tables to memory to increase performance.

E. Adding a memcached-tier for caching data and objects in RAM to reduce the number of times an external data
source must be read.

Correct Answer: AD

QUESTION 8

Which query will find rows in a table that have no counterpart in another table?

A. SELECT *FROM tablel INNER JOIN table2 ON tablel.id=table2.id WHERE tablel.id=! table2.id;

B. SELECT left_tbl.*FROM left_tbl LEFT JOIN right_tbl ON left_tbl.id=right_tbl.idWHERE right_tbl.id IS NULL;
C. SELECT tl.name, t2.name2FROM employee AS t1 INNER JOIN info AS t2 ON tl.name= t2.name2;

D. SELECT tl.name, t2.name2FROM employee t1 INNER JOIN info t2 WHERE tl.name=t2.name;

Correct Answer: B

QUESTION 9
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You establish MySQL Enterprise Server on Oracle Cloud Infrastructure connection via Secure Shell (SSH)
For accessing a new MySQL Enterprise Edition on an Oracle Cloud Infrastructure (OCI) Instance you "
Add SSH key " information during the OCI instance setup. You want to use Putty from your Windows Client
to install MySQL.

What are the correct steps to accomplish this?

A. Open Port 22 on your OCI Instance and convert the private key to ppk format. This new private key can be used for
authentication.

B. Use the provided private key for authentication.
C. Convert the private key to ppk format first and use the new private key for authentication.
D. Open Port 22 on your OCI Instance and configure Putty with the ssh private key.

Correct Answer: A

QUESTION 10

You execute this statement: SELECT NULL=NULL; What is the result?
A. FALSE

B. NULL

C.0

D. TRUE

E.1

Correct Answer: B

QUESTION 11

Your newly-created Oracle Cloud Infrastructure instance is not available for login in. Which is a valid reason for this
issue?

A. You forgot to enable port 3306.

B. The opc user can be used to access MySQL only with the created SSH-Key.
C. Only root is allowed to access from non-localhost.

D. You forgot to create the correct SSL/TLC certificate during the setup process.
E. The OCI instance is still in the "creation" process.

Correct Answer: A
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QUESTION 12

Which three are recommended configurations for installing and running MySQL InnoDB Cluster?
A. The number of machines per group must be 3, 5, 7 or 9.

B. use SSD\\'s for data and replication logs

C. Groups must be in even numbers; 2, 4, 6, 8.

D. isolated machine resources

E. Use Network-attached storage (NAS) for the data files.

F. smaller VM\\'s work best - with a maximum of eight vCPU\\'s and 16GB of RAM

G. Networks must be in separate regions.

Correct Answer: ACE

QUESTION 13

You have a MySQL Server instance (running with Port# 3306) monitored by the Service Manager in MySQL Enterprise
Monitor. You cloned the MySQL Database instance and configured it to be a replicated MySQL instance as Slave using
Port# 3316 on the same machine as the Master Server. The replication configuration is working correctly. The Master
and Slave Servers are running. You are trying to add the newly created MySQL Slave instance to the Monitor. The
Service Manager in MySQL Enterprise Monitor notifies you that the new instance is successfully added; however, it is
not added correctly at the newly added configuration points to the old Master monitored items. The Monitor shows only
one monitored MySQL instance for Master and Slave. Which two are possible reasons for this problem?

A. The SLAVE and MASTER instances are started with the same configured value for the option - monitor_server_uuid.
B. The MASTER and SLAVE are grouped as one instance for monitoring.

C. The mysqgl.inventory table on SLAVE is cloned with the same content as MASTER, which has the same server
UuID.

D. The mysqgl.instance table on SLAVE is cloned with the same content as MASTER, which has the same server UUID.
E. All the MySQL instances (Master and Slave) have the same server_uuid in /auto.cnf.

Correct Answer: BD

QUESTION 14
Which two are advantages of using Document Store in MySQL?
A. MySQL provides a NoSQL API to access the document store

B. MySQL can store XML as a schema-less database
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C. MySQL is a document database allowing PDF and Word documents
D. MySQL provides a native data type to index PDF documents

E. MySQL provides a native data type to store JSON data as a document
Correct Answer: AB

https://www.mysqgl.com/products/enterprise/document_store.html

QUESTION 15

Which best describes database horizontal scale-out architecture deployment in MySQL in a read- heavy environment?
A. Allocating more CPU to the database instance to improve throughput performance.

B. Deploy MySQL read-only slaves utilizing replication so that the slaves can be used for reads.

C. Increasing the memory capacity so that there is a larger pooling buffer to increase the database read performance.
D. Adding more MySQL servers and sharing the same dacadir on a shared storage component like NFS.

E. Increasing the storage capacity so that the database can store more data to scale.

Correct Answer: E
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